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(GENERAL AWARENESS)

1. RTE Act{2009) came into force from ;
(A) Apeil 1,2010 (B) April 1,2009
seEd sfufaw (2009) @ g3
(A) | sa, 2010 (B) 1 =94, 2009
wrg, 2. 8, WEeE (2009) w3
(A) | wisEs, 2010

2. "Operation Black Board" was started by ;
{A) Kothari Commission (B) NEP 1986
"FTTowE wiw W8 [F A T

(A) Wrar s B) A 1986
“Gudnx sl dee” vy dtar e 7 -
(A) Eardt aflies (B) #rs, &, ot 1986

3, "The 86* Constitutional Amendment” deuls with -
(A) Elementary Education
() Secondary Education
“86 T WA wEE T R wdfie #

(A) sl R (B) =urefies R

“8657 dfroma Ao fewoae dds B

(Ay WS frfier (1) SamEm e
4, Which of the following is not a primary colour 7

(A)  Blue {B) Green

T & W iy or @R

(A) e (B) FU

fegn' & fagm yiewdt Sar sat' 3 ¢
A #e B) o=

5. Which of the following i called Dry lee ?
{A) Solid Carbon diokide
{C) Nitrogen dioxide
Freriaien # & e qEl o we o # 7
(A) B8 Wl s
(C) g Eaiwems
ost T fam A vt mae o e B 1
{A) B T@Es FEMTETEES
(C) #elcins FTEMaERES
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(B) 1 »uds, 2009

(€}

(<)

(<)

(C)

(Ch

(<)

(B}
(D)

(<)

(€)
(C)
(C)
(<)

(B)
(D)

(B)
(D)

(B}
(D)

December 1, 2009 (D) December 1, 2010
| Beee, 2000 (D) | P, 2010

| #FEg, 2000 (D) 1 =dEw, 2010

NCERT (D) Hartog Commission
At s ® (D) wrEfn amim
niE, 1, 8 owra, & (D) oeew afimn

Vocational Education
Higher Education

wmeafi faven (D) s=a finen

Rdsdt ffimr (D) @8 fifime

Ll (D} w0

Carbon monoxide
Sulphur dioxide

A A

SHES HAWERTETS
AEEE SEWERETS



6. A fishrespire through ;

(A) Nose (B) Lungs (C) Gills (D) Fins
mwmﬁm#wiruhaﬂ‘rtf

(A) TTE B) #%2 (C) mawE (D) =
ferwr ¥t few e A B D

(A) == (B) ®wd (C) fors (D) fes

7 Since foundation of Nobel Prize Awards, which discipline has been ndded 1o the original five disciplines, which
were considered for Nobel Prive :
(A) Medicine (B) Peace (C) Literamre (D) Economics
FAAR qrEwT A & A §, S P g ore fawd ¥ oo 2, R R qree 6 R
A A T W
(A) Tafiear {8y wmfy (C) wféen (D) wewEs
Zuw yarErg & mEuw 3 e, T fel-ys O fefiwt w5 dfer G 3, ARG Al uemere w2
ftrs To'e e wfer AL

(A) o By wf (€) whE (D) wEEEHIE
8. Ome Rupee note bears the signatures of :
{A) Secretary, Ministry of Finance (B) Govemorof RBI
(C) Finance Minisier (D) Nome of the above
TH EO0 & A1E U7 FE0NT B B .
(A) wfv, fawr WA By =dtad & wET
(C) Fmy it (D) T ¥ 8 g
s 2 de I empE de o
(A) warTe, g daes (B) wre. W, ol € awEnE
(C) frs i (D) Gudaz e &6t & &if
9. Indiabecame the country 1o have scquired nuclenr powered submarines.
(A} & (B) 5 (C) 4 (D) 3%
T wefi wAghedl w afimeer s wE wee W W
(A) &8 (B) uiam (Cy e (o) #wa
umHrE Aerise usgitet @ wiitgoe sax o T ¥ == fam ¥ |
(A) &=t (B) uw=t (C) awr D) W
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10. Le Corbusier who designed Chandigarh wis :

(A) German Architect (B) Swiss-French Architect
(C) US Architect (D) ‘UK Architect
wing e WA a@ @ Wil O .
(A) WHT AT (B) Rw-diw wmgire
(C) gum wrgwR (D) T e
diftey faafen avs o8 & aweling A
(A) FoE wrEEdEE (B) nfen-29 nradtdae
(C) & WA, nreshlue (D) §. & wrawieae

1. The term Agricultural Shit is associated with ¢
(A) Agricultural growth  (B) Football (C) Cricket (D) Golf
wity wiz wer e g @
(A) i R (B) Hewia (C) fwdz (D) s
et e vae fon & ddfae ©
(A)  Erfterdt fearm B) e (€) fame (D) dw

12. "The World Beneath His Feat” is a biography of :
(A) Nawab Pataudi (B)  Adit Wadekar (C) Sachin Tendulkar (D) Pulels Gopichand
“The World Beneath His Feat* #ift B -
(A) v w2 (B) i wEwE (C) afieT Fgeme (D) e Hinfee
“The World Beneath His Feat™ #est ¥ :
(A} #=E Ut (B) itz TEwd (C) wigw Fgmae (D) B diide

13, Who among the following was the first lndian sportsperson to bayoott the Olympic toreh relay in support of the
Tibetan Independence Movement 7
(A) Bhaichung Bhutia (By Dhanraj Pillay (C) Chandu Barde (D)) Enbyendy Barus
Treee iAW & wwda § Siafes awe FE W e w0 S e ar et ey a v

(A) smlen gfEm (B) waTa el (C) =g @& (D) &g W
f'es wraret wides € miags 79 §8fua vee @8y o wetare J9s o ufaer sadt fuardt &= At 7
(A) wERE g (B) drEw s (C) @g & () dtirg =
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14, Who believed that poetry is spontaneous overflow of powerful feelings 7

(A) Bilake (B} Byron (C) Wordsworth (D) Keats
WA w0 o wlam il smenet =1 e afgyam & 7
(A) = (B) =LA (C) Fdged (D) =rew
@z dne A o afexr padtawll sewet @ Afow wifyeo 3 ¢
(A} 58" (B) wfeas (C) wosnwen D) #en
15, Today's Curmukhi, Dogri nd Sindhi scripts have developed from ;
(A) Brahmi script (B) Sarada script (C) Tunkari script (D) Kushana script
i e, Sordy St Rdt e Reim gl #
(Ay wah R (B) woar Bl (C) Twrd faf Dy g faf
o' & S, St i i fsdind feafie Tt o
(A) et Tt (B) wmaer fd (C) Fardt fmft (D) aEw fmft
16. Onwhat date is the Hindi Divas celebrated 7
(A) 1*May (B) & October (C) 7*September (I3) 14" September
f=d faww fem w9 weEn e & 7
(A) 1w (B) B Zweat (C) 7 fadut (D) 14 Freat
fifet faem fiw avdt & sl mrer 1
(VI (B) 8 niages (C) 7 mdwe (D) 14 FeEe
17. The name of National Open School (1989) was changed to "Mational Institute of Open Schooling” in -
(A) 2010 (B) 2012 (C) 2002 (D) 2006
A ST A (1989) W AW CAvEw ey siw s epfir ¥ e R o
(A) 2010 (B) 2012 (€) 2002 (D) 2006
Aume s e (1989) 8t R oz we fus Rafba” fe's sadts e fare At
(A) 2010 (B) 2012 (C) 2002 () 2006
I8, Which commitiee has been formed on CBSE Board papers leak 7
{A) K. Kasturirmngan Commities (B) Vinay Sheel Oberoi Committes
(C) N.K. Singh Commitiee (D) Justice Mukul Mudgal Commitiee
#tdfoed @ & Iur Fow qr W W el of § 7
(A) ¥ T AR (B) P vha sasie st
(C) w1+ Fis afvfy (D) #ftew gum gem wiH
#t. o, wiim. £l fed ¥ duw dw 3 5 @it o aws Stw fmee B 7
(A) & swgerdas aRet B) & vts Guare adt
(C) W%, & fiu =i (D) wwfeR yas yeas et
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19.

20

21.
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National Policy on Education 1986 was reviewed by ;

(A) Ishwar Bhai Patel Commitiee (B) Ramamurti Commiltes
(C) Sampumanand Commitice (D) Adielsehinh Committee
foverr ov iy fifr 1986 #F w e @ gro A ol o

(A) dwar wrd uda wiafe : (B) Tmwid afain

(C) wymis affa (D) wnfeifem afafy
firfepor 572 @it A1 1986 & mitfoer fegst gorer 5T @t At

(A) Fra=s vE u2E FHe (B) Tyedt st

(C) Ausmde wWe (D) nifemRdiner wiet

In which state RBI has launched Financial Literature Week based on the theme of Consumer Protection, on
Jung 4, 2018 7

{A) Kemla (B) Bihar C) 1&K (D) MP

4=, 2018 W fen e srefand & ol dven # ey & s av B afirer sem 9w
fur @ 7

(A) Hew (B) Fwre (C) wep-wwre (@) wad

7% 4, 2018 § fam 9w foy gt fomme 0% e wusaw gaTionr 2 el € wioore 2 &7 wig e
Hy &t famr 3 7

(A) daw (B fEow (C) iy wF et (D) A

The Union Govt, lnunched RUSA portal to act as s one-stop for States Higher Education Plans. RUSA stands
fior :

(A) Rashtriya Uchchatar Shiksha Abhiyan (B) Rashtriya Uttam Shiksha Abhiyan

(C) Rashtriya Unmukht Shiksha Abhiyan (1} Rashriva Unnatsheel Shiksha Abhiyan

oy Fea foven droensl & fie e goee 3 on-el & w9 ¥ el wd # B g omn e afe
fn B0 srTquEn W ool §

(A) e FewET Pven sl (B) wmglu gem e sivm

(C) e F=a fimm sftmr (D) g et foel st

AT e A @t diedt G e St o fe's erw w W wes mET e, . i, 2. lees sl
e v @ W, B, e HSER Y

(A) wwedt Goga i nifinrs (B) @Eest €3 AT wfaws

(C) awedt §mwas fRfimr wifewrs (D) wE=dt Samts fitfier afiows

[T over
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22, " Me Too" movement is an infemntional movement which is working ;

DOX-2510-A

(A} Providing employment to unprivileged youth

(B) Giving recognition to unknown social workers of the world

(C) Tocheck Global Warming

() Apainst sexual harassment and assault

it Me Too™ STetEs o sathdm sioea & o sm st B o
(A) Hfem garal ) TEmT FEE wE S

() afvm & s wEins SREaiE 8 oA R R

(C) Teves withr 9w W & fg

(D) @7 FefET e e W TR

“i Me Tao" wilms fog slzsamedt Wiiss ¥ A cdu e far 8 ¢
(A} 3 niftaras anew § 9@ Yo B SEURE BE

(B), dAng @ wEwre Myl gowet § s & wEt

(C) =dem vafifs & wte gon ST

(D) frart uasmat mE o kg

. Who is Lovraj Singh Dharsimshkes 7

(A) BSF Assistant Commandant who sciled Mount Everest seven times
(B) indian Hockey Player

(C) BSF Assistant Commandant who destroyed Pakistani bunkers

(D) None of the above

o fire ofvEg v B 7

(A) drumies weWER sWiEE A W GRS O W @ 9ER

(B} WIEEW FH UL

() dumus s wEe R afrerh gl B e S R
(D) Fudw ¥ & w0

wegw fHu qenmag &= 4 7

(A) i i, A wimde wite & i w@e Aine 3 WY 79w 3
®) Fradt et fugrdt

(Cy o A At wif2e anae s wfareat dae § 29w 8w B9
(D) Budas & ae st



a4,

R. K. Namyan is the renowned

(A) Journalist (B) Writer (C) Cartoonist (D) Politician
wre, #® Ao vt ¥
(A) TFIT (B) #&wm (C) ™igFee (D) TwAT
nra, & wofer yfito ox
(A) uswae B) e (C) sagiwmz D) TwAw
25, Appraise means :
(A) Accuse (B) Proise (C) Appreciate (D) Assess
Appraise %7 e §
(A) Accuse (B) Praise {C) Appreciate (D) Assess
Appraise ¥ HIm ¥ ¢
(A) Accuse (B) Praise (C) Appreciate (D) Assess
26, "Tobreak the ice” is ;
(A) A strong man to start quarrel (B) Tobreak the awkward silence
(C) Tobecome vinlent (D} To create nuisance
";i’li z amgat ¥ .
(A) wwgr & w3 W fog uw =y amoft (8) Fdw T dt & fo
(C) ftws a3 & fime (D) 3vzs 1w & o
“TEmE T fEw Y
(A) v73 5y g9n =2 &% vege mresit (B) weits Py T =t
(C) fima wan =et (D) wdeat e aes et
27. Which dislect of Punjabi is called "Taksali Punjabi® 7
(A) Majhi (B) Doabi (C) Malwai (D) Poadhi
qurdl ¥ ¥t At W “owd doml s oS b 7
(A) et (B) Damh (C) wmad (D) et
et # faoet #6 § "eawedt Bt e w80
(A) Wt (B) et (C) weeet (D) Umddt
28 Gury Granth Sahib World University is located in
(A) Faridkot (B) Amritsar (C) FategarhSahib (D) SAS Nagar
Te Tu wiite B gl fow @
(A) wiesz (B) 3wt (C) witmz wfife (D) TG, AT
77 dn mime feme gatestve wieg 3
(A) wifted= (B) wifiyzre (C) wfgweg wfve (D) »w. 2. 4w #we
DOX-Z510-4 [Tumn over
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29,

30.

3.

32.

"MNange Pairan da Salir” is authored by
(A) Dalip Kaur Tiwana

(B) Gurbaksh Singh Prectlani
(D) Amrita Pritam

(B) 1Ew fEE fead
(D) s e

(B) gweus W s

(D) wifigr wfew

(C) Tulsidas (D) Soordas
(C) vty (D) o

(€) gawreR (D) gEew

(TEACHING POTENTIAL)

(C) Surject Pattar

ot et @ wwes g fafe @

(A) zeim Wy e

(€) gefm

“Ad Ogt @ FEE” fewd g fafiowr G B -
(A) edflu @9 feermr

(C) mawlts usg

Who is called Shakespeare of India ?

(A) Kahir (B) Kalidas
wIte #F wreaiuy RS osm g B 7
(A) wHIT (B) ieer
93 ¥ Rawinig faw § faor wter B ¢
(A) =ty (B) adten
Formal education is provided in ;

(A) Hoime

(C) Schoal

Mefis Ry e o anft &

(A) = (B) wnwEr
amit fifferor yere atdh mtlt B

(A) w= (B) wwrfedt
Education is :

(A} Teaching (B) Instruction
firer B .

(A) finem (B) Frifm
ko B

(A) Sde (B) fsaew

EX-2510-A

(B) Socicty
(D) Correspondence course

(C) = (D) AR YEewH
(C) Fam (D) vse-feoe gan
(C) Indoetrination (D) All ofthese
(C) Fomer foven (D) =% & 80

(C) fiars firamez D) feo Are



33.

Teaching resultsin :

(A) Leaming (B) Activating (C) Selfsctmlization (D) Selfrealization
foverm =3 oo ¥ @ .
(A) &R (B) sfwam (C) = arafawm (D) %" sEHE
framz few fete =it & B ¢
(A) mafia (B) Matida (C) 7@ yrafeas (D) PR wEw
34.  Which ofthe following is not a mass media ?
(A) Books (B) Television (C) Radio (D) Newspapers
et & W @ ofifEny oft R 7
(A) gF (B) Zwifaw (€) @ (D) &HETE-TH
st fefant fe faos v Widhor &Y O 1
(A) Tan (B) 2eftfemm (C) TG (D) noErE
15, Inaudio-visual, education is imparted through which media ?
(A) Vision and Reading {B) Reading and Leaming
(C) Vision and Hearing (D) Reading and Writing
shizd-frgam A, i fem e § amam @ gorT & anht B 7
(A) gz st wm (B) WA s e
(C) gz afrr wam (D) wamn s femen
wrdte-fegnm e fifioor § fam iidhor oo g st B 9
(A) feam w3 i (B) dtfde w3 mafda
(C) femm w2 F=7 (D) umE w3 e
36. Which of the following is the cheapest and best aid for a teacher 7
(A}, Television (B) Tape recorder (C) Blackboard (D1 Models
foresforfin & & el s & Bo aed walt e wedt sreef) seren B 7
(A) Eeifas (B) 2u fostdt (C) stward (D) =Em
Iz fofirrt feF faadt niftrum et 79 3 AwEt o wibor movfes & 1
(A) 2eitfews B) 2u frm=sw (C) wl=ies (D) WEm
DOX-2510-A 1 [Tum over



37

38,

39.

When did the Constitution of India came into force ? _
(A) 26" January 1950  (B) 26* January 1951 (C) 26" January 1952 (D) [5" August 1947
wraw w1 #iEwe W T gan ?

(A) 26 wFadt 1950 (B) 26 wAd 1951 (C) 26w 1952 (D) 15 swiva 1947
Feg v dfeos & wg S ¢

(A) 26 7wt 1950 (B) 26 7awdt 1951 (C) 267aedt 1952 (D) 15 naRa 1947
“If you open & school, you close a prison.” [t means that :

(A) Schools are built on the land where there were prisons

(B) The spread of education ends crime

(C) School children throw stones at prison building

(D) Opening ceremony of 8 school causes much grief and pain to prison officials
‘gt mm R T EEY B, & g AW Ww oww ¥ R gEe meea B
(A) = 0 ufy wr 73 B st o ot

(B) fver w1 gure o s SO #

(C) =@ & aoat Ja faiFen w oey dwd B

(D) #GF * squreT FAde ¥ a9 sfewta § o gw i ol @k
“R At mas e 3, 3 9t o de e R T ¢ fem e vamw D i

(A) mam = fsmme ofts '3 dtw ater B i At ot om

B) R 2 firere g § wan geer

(C) raft S Ae f fmme I vme e @ os

D) mgm @ Gewen Ay fir'e 7s witerdot § 503 ¢y vid wee o B

A teacher has a lasting impact on students :

(A) Charcter (B) Leaming (C) Values (D) Achievement
ol 9T uh firew w sl aee = R

(A) =t (B) #mwren (C) qr7u (D) Fumfeoal
wifterus & fefemiredtft *3 Aardt wime B

(A) &Fwed (B) =afia (C) mgw (D) wrdftwite

DOX-2510-A 12



40.

41.

42,

Mavodaya Vidvalayas have been setup:
(A) Atdistrict headquarters (B) Instate capitals

(C) Inbig cities (D) In rural arcas

sy firaren =ity kg o @ .

(A) Fyan soumem 5T (B) T trawmfAdl #

(C) & wEdl ¥ (D) i gent

mefenr fefenmem Aorfug &3 318 05 ;

(A) fowr Temwaen fell (B) & dhwt oAyt fir'e
(C) ¥%ufd’ e () g s fre

What does 5.C.E.R.T stands for 7

(A) State Council of Educational Research and Training
(B} State Commitiee of Educational Research and Trining
(C) State Council of Educational Research and Teaching
(D) Swate Committee of Educational Rescarch and Teaching
Wi = v oad £ 7

(A) Mt sepdor st gl Tow aftss

(B) Wfemw sEae st wfeer tow Wil

(C) s srpEas sie Fereer Tow afig

(D) fuftwe o st ufimee o wfif
wn. #, @, wre, . oS vamw Y

(A) wez dvm me wigawse foree oy 3fda

(B) wez =it i mgaeas feree Ay e

(C) wee &mm mrw Wgawss fewes W fde

(D) r2z adt we wgawss fores W fifds
Teacher's day is celebrated on 5* September in the honour of :

(A) Babu Rajendra Prasad (B) Sarvpalli Radhakrishnan

(€) Ravi Shankar Shukla (D) D Zakir Hussain

few =1 = 5 R Y % o o s e @

(A) =g THT wER (B) waw Tam

(C) = wwt E (D) o kT ght=

niftrerum B fox § fidee § feost @ mavs e et afer 0

(A) =g =fies yre (B) mewwdt TurigEsn

(€) =¥t dos gEw (D) . wfew ghw
DOX-2510-A 1A
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43,

45,

Which quality of a teacher is liked most by the students 7 [
(A) Hisnot being prejudiced (B) His paying heed to their problems

(C) His punctuality (D) His not getting angry

oral g e R wEE A aes s uee Sy B

(A) T gafue A€ Bem s @) T Frfif & wwsd v e 3
() I8 HHTTE (D) F7% T8O 7 FH

fenradtat Toiar miftmium & faoe gz 79 7 fivre uie gt ater 3 2

(A) Buat o uirg adt Star A (B) Gor' e fefenradndt & T Sua fows 2
(C) G €1 auta D) Gt & aw & o

A good teacher must be :

(A) A good administrator (B) A good preacher  (C) A good leader (D) A good guide

o = e g7 T

(A) TF s¥@ mmEs  (B) OF =@ yEE (C) OF 6T AW (D) Wh s anferis
fe's dar miftnmum d@ after 3 -

(A) s dar yrEs (B) fe's do yoos (C) fes dar ds (D) fe's dar weaeana
Good tenching is a function of ;

(A) Devotion of the teaching profession (B) High academic qualification of the teacher
(C) Good leadership of the head of the institution (D) Good connections of a teacher

wedh e o o Wl R

(A) e epmam S s (B) firerw ot 3= fwies drom
(C) Wrar & vg@ W aver iy (D) w6 fives & s=0 wWdg

dait oo few e 8% aram o

(A) wiftmrus OF & magr (B) wiftemum & 85 werefia Gas
(C) dran & ¥t o et daathy (D) wiftmum @ S Ao

How as a teacher you will ruise the standard of weak studesnis ?

(4) Inform the Principal {B) By intimating the parents

(C) With the help of other students (D) By giving them special attention
uw firem & w9 3 am o ol @ s &) w7

(A) Fifom # gfa weh (B) war-Rm 9 qivs v

(C) s=r ol #) 5eg | (D) 37 9% fafm wns ¥

s niftminm =7 ot avete fefiuradtnrt & flowrst § fa sorld ¢

(A) fijsihs & gfes a=a (B) Wit § &% F

(C) 2R Frfenradint & rofesT &8 (D) Qunt 2 felm foms @ &

DOX-I510-4 14



47, How will you develop self —discipline in the students ?

(A) By giving them responsibilities {B) Instructing about the rules regarding conduct
{C) By punishing them (D) By muking them follow rules
WO WA WA~ R [awiie w7
(A) 2 Fdrfoy & (B) oo & deu F FBodl # at § B &
(C) 378 Figq F% (D) T8 Frudl & wee ST
At fefenradbort fir's Fe-mgsars fad feafhz a33 1
(A) B & St 2 3 (B) wrae Addt femdt 1 freew 83
(C) Boat §mr @ & (D) Gowt gnre famt & use gaer &
48. A naughty student inthe classis :
(A) Foolish& Dull (B) Active& Intelligent
() Unadjusied & unappreciated (D) Rich and Carcless
HE B O WO B ae E
(A) ¥d & gm= (B) uiFu dt qfem
(C) wamm At A-wfamfeos (D) =t i wream
aaw fre fo's soradt fefnradt o B -
(A) ¥y W 5RE By Tafanmits w3 gidhes
(C) wiars wiE wioRudtindfes (D) foa v Swedn
45. PT.Asmndsfor: .
(A) Public Truining Agency (B) Parent Teacher Activity
{C) Parent Teachér Association (D} Parents Traiming Association
ffy = o9d 2 ;
(A) & uinew o (B) =frsrEs foem wiaiaig
(C) sfmmas fiems s (D) sfrmaEs i e
Ut & 2w oyEes O
(A) uslsa =dftar 2vAT (B) wmfEeex-niftwmua ardifedt
(C) wifemwa wifterud A (D) wfsews fhusret Srar
50. Written examinations would be :
(A) Essaytype (B) Short answer type
(C) Objective type (D) Balanced combination of ull the types
e wihemd Er wfin .
(A) Few v (B) WY It ¥
(C) TGS T (D) W & Wk A
fonrelt et Taher avdidet o% -
(A) fado 2ty (B) &2 wew ety
(C) wrglems et (D) w& yae ¥ AIieg gie



51. Aschool library should have ;

(A) Film magasines (B) Good books on the lives of great men
(C) Detective novels and stories (D) Books on the lives and affairs of film stars
T BE T ¥ A i
(A) R afteend (B) #ErT gent & o awd et
(C) wryeh v 3 Fertwi (D) R fardt & e e st o1 o
fe'a mam wfegdt f'e 2 ordfter 3 ¢
(A) famy Paitat (B) wow yart ¥ des '3 daftet farame!
(C) frdufew mes w3 Fudit D) fem fearfont @ dtes o2 i@ w2 faget
52. What is the main criteria for constructing the curriculum ?
(A) Objectives of education (B) The students
(C) The subject matter (D) Methods of teaching
rEEEn o1 § A gen reds s B 7
(A) fnen & e (B) @
(C) Prvrg-aey (D) Fower & b
usgH TdE wE WY wuds ot 78 7
(A) frfimy & @2W (B) fefenma
(C) femr-ag (D) frfime 2 o
53. Theschool isa product of
(A) The District Education Officer (B) Ministry of Education
(C) Society (D) The School Education Board
T T T b
(A) e fomen wftwrd (B) finen saran
(C) &wTw (D) *nw R wrd
ram feowt & fe'm @aue 3 -
(A) fomr fETanr wEwRe (B) frfumr Waaw
(C) gwfeet (D) Fam i dew

DOX-2310-A 16



54. Pass percentages of pupils depends on -
(A) Enriched facilit
{C) Effectiveteaching
Prnftidl W are Wi o 9T P s R

(A) FE ghm
(C) wwrd fiem

fafenradhnt @ uR ytes few 2 faewe aee O ¢

(A) mifen Fgest
(C) y=t fifemy
55, Ourschool libraries are :
(A) In bad shape
(C) Rich treasure houses of knowledge
FATL TEF e §
(A) o T ¥
(C) " & TH& WA W W
i Fam St sriegetet O .
(A) waE wiEe oY
(C) fomis 2 AHiTD vl & uwa
56. School provides environment for :
(A) Physical development
(C) Social development
wa e g wiron gEm w b
(A) wrlifts Faemg
(C) wrars fawrs
raw fegst met eaees yow @Eer ¥
(A) wdtea fesrm
(C) mwiea feam

DOX-2510-A

(B) Inelligence of teacher
(D) Rote memorisation

(B) Inexcellent shape
(D) Without books

(B) 3ot wTwIT A
(D) Pt & fr

(B) m&ee nrare fie'e
(D) fazet 5 figt

(B) Emotional development
(D) Harmonious development

(B) vr=EEes [
(D) derdyet Rwm

(B) w=aavE feaw
(D) wfoee feaw




57

58.

9.

61,

A teacher learns the maximum from the :

{AY Well wishers (B} Students (C) Prncipal (D)
i afteas T Hear

(A) WpwTaEs (B) wrx (cy Fifir (D)
fe"s wiiterua 7 5 @0 few & fRae 9

(A) Eufdaa (B) fefenirad (C) fid¥ium (D)
1. Q. isan index of a person’s :

(A) Personality (B) Intcrests (C)  Intelligence (o)
WTE. W U ufE T HESE R

(A) =uffaca (B) wheaf (C) Tl (D)
nret, fag. faR fonadt o geafa O

(A) et (B) geitnrt (C) g (D)
Which of the following is normally found on the back cover of a book 7

(A) ISDN (B) IRBM (C) 1ICBM (D)
Frerfafer 3 & W wwrg w9 & el gwes & 99 & FEv oo FBew B 7
(A) wrd um 10 (B) s (©) aéafidion (D)

iz yfeost T for faw U2 e s S wfewr e 9 1
(A) wEt i, #ods. () ol mew #h e, (C) wre, HT ST L (D)
Wha is the first teacher ofa child 7

(A) Father (B) Nurse (C) Mather (D)
a=a & TEe foers #1 8 7
(A) For B) (C) = (D)
v ufm fee ded ?
(A) fuzr (B) ®an (C) v (D)
(MENTAL ABILITY)
Complete the series ;
1.2, 6,7, 21,22, 66,67,7
(A) 70 (B) 68 (Cy 201 (D)
1,2,6,7,21,32,68,67,7
(A) 70 (B) 68 {C) 201 ()
= §ye a9 -
1, 2,6, 7 21, X2 66,67, 7
(A) 70 (B) 68 (C) 201 {D)

DOR-2510-A T
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62 Replace the question mark with suitable altemative given below !

63.

4.

LU, Q%L
(A) 1 {B) K

{C) G

A1t firg wy oy feeen & o gver Pags & e

LU QL
(A) 1 (B) K

It T yER feamy @ aE yes iy O ot 5ol

ZUQLL
(A) 1 B) K
Complete the series :
KMS, IP8, G811, EVI4, 7
(A) BX17 (B) BY17
'f@l_?‘-lt T 7 W
KMS, IPR. GS11, EVI14, 7
(A) BX17 (B) BY17
uEt f yead
KMS, IPB, GS11,EV14, 7
(A) BX17 (B) BYI1?
Choose the odd one :
(a) Trundc
(b) Tree
fe) Froi
(d) Leal
(&) Flower
(A) Trunk (B} Tree
AN ®WET
(a) -7
(by %
le) e
(d) W
(e)
(A) &1 (R) 9%
THE BH -
(w) Za
(b) &t
[c) B8
(dy u=gr
e) &
(A) &= (\)

DOX-Z510-A

(C) G

(C) G

(C) CY17

(C) CY17

(C) €Y17

(C) Fruit

(C) +=

(C) =»

(D} N

(D} N

(D) N

(D) CZ17

(D) CZ17

(L) CZ17

(D) Flower

D) T

(D) &=

[Turm over



65. Ofthe following choose the pair which is differently related :

(I} Stale: Fresh
(I} Truth:Lie
(1T} Slow : Sluggish
{(IV) Teach:Leam
(V) Kind: Cruoel
(A) (1)

() @@
t#}}gﬁ

( : W

(v famrn - dfeen
(V) = : X

(A) (1)
fravntefis Y froe 7

£ o
e

82353288°
BF
g
:

[= ]
tud

23358
shege

3388°383385°¢
Ezatiaﬂﬁzﬂﬂg

...
=
S
-
S
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(B
L)

) ()

(B) (I

B) (I

(B) (I

(B) (I

B am
¥ <t dre R v @ e B g

Jv 3 s B @

o2

(C) (V)

(C) (av)

(€) (V)

(C) (1

(C)y (n

(€ (I

(D) (V)

(D) (V)

D) V)

D )

@ V)

(D) (V3



67. Find the set among given four alternate sets that his the same relationship as the given set has -

68. Choose the set in which the numbers are similarly related as in the given set :
Civen set:7:24
(A) 30:100 {(B) 23:72 (C) 19:58
39 e ® 97 fawd e fig g A X wam o R weia B
o mg #e :7:24
(A) 30:100 (B) 23:72 (Cy 19:58
§n e § 92 fw fe'e due 22 o e vt mis qu o Aifte oF
i fz :7:24
(A) 30:100 (B) 23:72 (C) 19:58
69. Replace the question mark with suitable altemative given below :
EGIK : FILO = FHIL: ?
(A) GIMP (B) GMIP (Cy JGMP
Ara fow my FvgEn Prees # Ao yre e o
EGIK :FILO = FHIL: ?
(A) GIMP (B} GMIP (C) IGMP
= '3 gad feamy ® 7 yie g o of 58
EGIK :FILO :FHIL: ?
(A) GIMP (B) GMIP (C) JGMP
DOX-2510-4 2

Giiven set : CLASS : SCHOOL : STUDENTS
{A) Ball :Bat:Piuch
(B) Sister : Family : Brother
(C) Hand : Body : Finger
() Leaf; Tree : Root

wrt dwfeas @21 # & fiw my @ & dwm s 6w W @ O

W T ¥ W EE o e

{ﬁ}h:ﬂFﬂT.‘ﬁT {B}mﬂmﬂﬁ{ﬂ}lﬂ#ﬁ#ﬁtm}ﬂﬂfﬁw

e feamfux Azt foe 02 o Az woar s Ado o e g2
fe'sr famrr Bz ; @R  FEwm o fefenradt

(&) 7m : b= : fim B) ¥ : ufmwe : g (C) T : mdte : Gast (D) v 7 FE

(D)

(1)

(D)

(D)

o)

(L)

11:40

11:40

11:40

JGPM

JGPM

JGPM

[Turm over
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71.

T&

IF*ROAST is coded as *PQYUR’ in a certain language then how will *SLOPPY" becoded in that language 7
(A) MRNAQN (B) NRMNQA (C) QNMRNA (D) RANNMQ

aft ‘ROAST® % fit Frfdee amm % PQYUR' & %9 % wiz fvm mm & &t 39 wien 3§ SLOPPY" 5
et wig g omam 7

(A) MRNAQN (B) NRMNQA (C) QNMRNA (D) RANNMOQ

7 "ROAST' # faft fufs s s ‘PQYUR’ @ v f's &% dtw famrr @ 31 8% 3 fr's 'SLOPPY’
& fud’ dw sty i

(A) MRNAQN (B) NRMNQA (C) QNMRNA (D) RANNMQ

In a certain defence code *GET AWAY, FIRE BACK-WARDS, MOVE SLOW” is coded as *“BEN CDCI,
QHOE PCTL DCOXU, ZMWE VEMD', Accordingly ‘REWARD' will be coded as :

(A) OEDCOU (B) OEDCOX {C) OEDNXE D) OTDCOX

wr Faftrem e #rg ¥ *GET AWAY, FIRE BACK-WARDS, MOVE SLOW'#! ‘BEN CDCL QHOE PCTL
DCOXU, ZMWE VFMD' # =9 # #rs i mm & | a8 ‘REWARD’ %1 #73 famm =mom

(A) OERCOU (B) OEDCOX (C) QEDNXE (D) OTDCOX

fe's feafas aTune 35 fif's *GET AWAY, FIRE BACK-WARDS, MOVE SLOW" § ‘BEN CDCL QHOE
PCTL DCOXU, ZMWE VFMD' 2 gu fe's &7 siar famrr 31 evggy, ‘REWARD' § & otz aear
(A) OEDCOU (B) OEDCOX (C) OEDNXE (D) OTDCOX

In a certain code language :

(I} “pit nasa” means “you are welcome”

(I} ‘naho pa la® means “they are very good'

(Il) ‘kadala’ means ‘who is good’

{IV) *od ho pit [a’ means ‘they welcome good people’

Decode ‘pa’

(A) Very (B) People (C) Welcome () Good

uw fafren ®rg s 7

(I} ‘pitnasa’ % ¢ B ‘youare welcome'

() ‘naho pale’ ® af & ‘they are very good’

(M) *kads la” %1 3t & “who is good'

(IV) ‘od ho pit la* %1 3 # ‘they welcome good peaple’

feTE ‘pa’

(A) Very (B) People (C) Welcome (D) Good

fo'm fomfos &9 7o fi' -

(Iy ‘pitnnsa’ @ wEa 2 youare welcome’

(1) ‘nahopals’ & wae T ‘they are very good’

(1T} *ka dala’ & e 3 ‘who is good'

(IV) *od ho pit Ia’ 2" wiag ¥ ‘they welcome good people’

stas ‘pa’

(A) Very (B) People (C) Welcome (D) Good

DOX-2510-A i
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74.

Aok

Ina certain code *lee rade’ means “whal was it”; ‘mo nil” means "vou go”; *nil pom ra® means “you like it'; and “ok
lee fo" mesans *she was sick”. What is code for “what you like" 7

{A) “nil ralee’ (B} ‘pom nilra’ (C) ‘pomorales’ (D) “denil pom’

o Fifiad $78 ¥ ‘lecrade’ W & B ‘what wasit'; ‘monil' ¥ 508 8 ‘you go'; “nil pom ra’ 1 a0l # ‘you
like it"; 31T *tok lee fo* 7 3 & *she was sick’ 1 *what you like' % firg #7z wm 8 7

(A) “nil rnlee’ (B) ‘pom nil ra’ (C) ‘pomiralee’ (D) *de nil pom’

fefa fspfog a9 fo's "lee mde’ @ wigw & ‘what was it’; ‘mo nil" 2 w@8 ¥ 'you go'; "nil pom ra’ & wae 3
“you like it"; »3 “1ok lee fo' & nw  ‘she was sick” | *what you like” T &7 df J<a 1

(A) ‘nilralee’ (B} “pom nilra’ (€) ‘pomrales’ (D) “de nil pom®
Idemify the synonym of “VINDICATE':

(A) Indicate (B)  Justify (C) Colour (D) Storm
“VINDICATE' #® waramdf we &t wpsra &1

{A) Indicate (B) Justify (C) Colour (I Storm
‘VINDICATE' =" miratgs uara .

(A) Indicite (B) Justify (C) Colour (D) Storm
Antonym of ‘DEVELOPMENT is ;

{A) Retardation (B) Retrogression (C) Transgression (D)) Progression
‘DEVELOPMENT" w1 farafrends wrez & -

(A) Retardation {B) Retrogression (C) Tmnsgression (I3) Progression
‘DEVELOPMENT' & feudiawags mee 3 :

{A) Retardation (B} Retrogression (C) Transgression (DY) Progression

Information for (). Nos. 76 - 78

Five girls Madhu, Arti, Kanan, Rekha and Suman are married to Mahash, Yogesh, Ravi, Mukesh and Gyan,
but not in the same order.

(I} First letters of the names of the couples are not the same,

(I} Arti and Kanan are not married to Yogesh,

(III} Suman is not married 10 Mukesh.

IV} Yogesh and Gyan are not Suman's or Madhu's husbands.

(V) Kanan's and Rekha's hushands® names do not start with ‘M.

W WY 76 - 78 % g e

T AgiRel WY, O, WA, e s qEa W e wdw, a1, S o & g 3, afen
6t &9 T TH

(1) et F At & uper s g T8

() srelt v waT ow B e & ool gl 2

(IT) 7w & o % P =t gan B

(IV) @it 3 w1 gFT w9y ® ol Ad 8

(V) ®E9 ste ten & ofedl F A w3 os Al AR R

DOX-2510-A i | [Turm over



yaws #59 76 - 78 st e
U mElt W, wiredt, arae, 39 of e e fen WO, OirE, SR, WEE i Rames &8 dfenr 9, u
gn 3w &9 =0t
(1) wfet @ &t 2 ufo® wiue fied o & om)
(1) wradt w3 aas Gam e fowd 08 &0t 96
(1) = wEw &= fnrdt w0t 3
(IV) Gt w3 farors e w1t W @ uslt et o
(V) a5a n3 Ty 2 udedt @ & "o’ &% g7 w07 g€
76, Whois Ravi's wife ?

(A) Madhu (B) Ari (C) Kanan (D) Rekha

MR whdah?

(A) wH (B) wreh (C) #r79 (D) T

Ayt = R Y

(A) ¥g @) wradt (C) &sn (D) #w
77. Who isArti's hushand ?

(A) Mahesh (B) Yogesh (C) Mukesh (D) Ravi

st d et B 7

(A) Wk (@) @ (©) 7w (D) T

wradt @ udt w1

(A) WIR (B) widm (C) wam (D) =¥t
78. Which ofthe following statement is wrong 7

{A) Gyanis married 1o Kanan (B} Suman isnot Mukesh's wife

(C) Arti is not Ravi’s wife (D) Rekha is not Yogesh's wife

Freafisfore & &t *am wos T B 7

(A) W W P weT & g B (B) §&T gew A welt o #

(Cy) srodft of & oeft ot B (D) T driver # o ol @

fmmisfa 79 ooz s =z & 7

(A) fimrs = fioro @ms &® dfene & (B) mw& waw & uzat & 3

(C) wradt ot & uzel s ¥ (D) & Gate o usat &t 9

DOX-2510-A 24
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80,

Chn the basts of statements, four conclusions are given. Find true altemative among A, B, Cand D :
Statements Al branches are flowers. All flowers are leaves.
Conclusions : (1) All branches are leaves.
(23 All leaves are branches.
{3) All flowers are branches.
(4) Some leaves are branches,
(A) None follows (B) Omnly (1)and (4) follow
(C) Only(1)and (3) follow (D) All follow
vl % smre ww, w Pyeed Rooa 8 A, B, € D # v wft feew 97
wuA o it e g & Bl e aie B
Preed (1) wft werd ot B
(2)  wfr oferi o @
(3) o @)
(4) o ufewt wmend €
(A) wr ot Tf (B) = (1) ot (4) W1 sprA w1
(C) F=w (1) M7 (3) W YT H (D) ®ht & s WX
femt @ weory ¥, @ W2 3 a® 0A0 A, B, Cwd D 8 ot feamu @& :
famre | wrdtadt Sae? @8 08| R W U TE)
fer (1)  mArdtet Bt T TR
(2) w2 uF At om)
(3) wd & At Oon |
(4) ¥ U Iws o8
(A) &t 5t (B) @em (1) »3 (4) o® =9
(C) 3w (1)wd (3) T8 53 (D) 7a o8 &

Five statements are given. Find the option where third statement is a conclusion drawn from preceding two

smioments .

{a) Nopatriot is acriminal.

(b) Ramdas is not a criminal
(c) Ramdasisapatriol.

(d) Mohandas is not a patriot.
(¢} Mohandas i a criminal.

(A} (a)(b)(c) (B) (2)(c)(b) (C} (a)(b)(e) () (a)(d)(e)

arw s fig o & | A Fwer g8 wwt @eo sue fed @ wo @ e mw freed §
(a) *rd Fwww soodt T8 R

(b) e waTE A8 R

(c) TOETE W dwwad B

(d) HrEEme TuwEw a6 B

(e) wtwerara sl B

(A) (a)(b)(c) (B) (a)(c}(b) (C) (a)(b}(e) (D) (&) (d)(e)

D25 A a3



81.

dm firs fo2 @ om ﬂaﬁmawﬂmmmmﬁam?mmwa
(n) S dmwars nougdt w4 Y
(h) @Hem wiuEdl w9 D)
(e) Tvem fe'y duwms B
(d) Home™w fuEaE A4 3
(¢) WoseH mugdt )
(A) (a)(b) (c) (B) (a){c)(b) (C) (a)(b)(e) =~ (D) (a){d)(e)
Four arguments follow the statement given below, Find the strong argument among the four :
Statement  © “Should India go in for computerization inall possible sectons™
Arpements : (0) Yes, it will bring efficiency and sccuracy in the work.
(b) No, it will be injustice 1o the monumental human resources which are at present under utilized
(el Mo, it needsa lot of money, We ahould not waste money,
id) Yes, when advanced countries are introducing computersin every field, how can India afford
1o lag behind
(A) Only (a)is strong
(B) Only (a) and (b) are strong
(C) Only (a) and (¢) are sirong
(D) Only (b) and {(d) are strong
W g A Ry g wwr w1 wpee v ) oW & dre oo e e e
v . CWn owrE ) oad Hafie e ¥ eegedem # R e i
W (o) B, uB W ¥ warn sht advenn aom
(b) =® or Pwe we deeal @ W aeow § A adaet ¥ oaod B
(¢} 8 & *gg &0 Y wfie ) o 3R e o w0 wfEm
(d) W, 9% 770 3w o &F H Wy sy w1 @ B @ v #F e o owen B
(A) Fad (o) 5uqo B (B) #39 (a) T (b) Fage ¥
(C) Faa (a) T (c) o ¥ (D) A (b) ¥ (d) FngE B
o Foa U8 2 s & v @e 0w ot fed wewT TeE B
firs : “alt wam § Ard daw dmet e dleflaws wdt e wndter B
Fga - (n) ﬁ.hﬂﬁﬁwh@ﬂnﬂm|
(b) &dt, fea frsres st oitft we Bfemrdt TR & Ager W s o e O
(¢) =dF, fem § wgs e O ondter ¥ 7 Owr emewe &Y aom odteT)
(d) o, 7¥ @az ¥ ov Gue R dfufeet & Bpwre o w0 o, 3t ees fad R afr mee
(A) Tz (o) Woge 2 (B) frem (a) ™3 (b) HaEs 0%
(C) firem (a) W3 (c) voga @° (D) fre= (b) w2 (d) woes o%
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Information for Q. Nos, 82 - 84 :

The following Bar Chart shows the income of a business for five months for January to May. Answer the
questions that follow :

| Fdaww) (L]
| oo |
it I
M | b (1]

3
5
£
i

LTET ey

T W 82 - 84 % fan ween

Freifafem wre 9 w9 d & 7 o9 o= ol 2 e ow wgaw & ame Bomm & Prey ot & o
¥

i | (85 |
|

| |.}|1'l'| LRELL ]
Wi | e
R | I

Fabh Wik Apd By

yws #Ew 82 - 84 =t prEard)

fmvmtefuz we graz aeedt 2 HET 39 da HdTE st ardee @ e § eeede 3 fevs yest @ B9
ﬁ"@"

HAE] (LT
i i 1] 1 ibae

R Lt ] |

D Pek  Mamk Al My |
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B3,

85.

Income in May is how many timesof the income is Feb. 7

{A) 3.0 {B) 3.25 )33 (D) 4.0

7 ¥ wy wowh W § fed o & 7

(A) 3.0 (B) 3.25 (C) 3.5 (D) 4.0

HET f&'F wiieEs Taedt € nves @ R g B 1

{A) 3.0 (B) 325 (C) 3.5 (D) 4.0

The average income from Jan. to May is :

(A) Rs. 8,600 (B) Rs. 8,700 (C) Rs. 8,750 {D) Rs. 8,800
wAdt & 7 o e e B -

(A) 8,600 T (B 8,700 g (C) 8,750 wqq {D) 8,800 79T
AewET 2 HEt % wiRT wen fET D -

(A) 8,600 Fu@ (B) 8,700 gui (C) 8,750 qu (D} 8,800 FuE
Duaring which of the following monith is the ratio of income to income of the previous month, the muximum 7
(A) February (B) March (C) Aprl (D) May
Preaffea 3 & fvg =it o frod wfS ot s & ae w1 sepoe sfissas B 7

(A) wEhh (B) W (C) s (Dy Wi
fovwfefies S fan wdftd fo'e ied iR & winves 3 wiEs o migurs wiltasy 389 7
(A) wawdt (B) wrew (C) millws (D) »et

Find the correct observation among the four observations given on the given statement :

Statement : “Homor movies make children feartess™

(A) Statement isa fact (B) Statement isan advice

(C) Statement is an opinion (D) Statement iy a prejudice

fan mo wm o R o W sEeeet & e @l ameEeee W R

Fu 1 g e ot W e a8

(A) Foa TF A # B) sTrosEE R} (C) B9 TR TN R (D) o9 UF qEhs d
&3 e foers 3 29 a2 o9 nadant faae At vedas firg w9

fimir . “aedt femdt oot § fama ae@eiat o

(A) s e s 2 (B) fiows fea meo ¥ (C) fowims fESR 92 0 (D) foors s vaurs &
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86. Three inferences follow the statement. Find the imphicit inferences ;

Statement : “India proposes to tap non-conventional and renewable sources of energy as India now needs 1o
increase her energy production by more than ten imes.”

(1) Indiadoes not have sufficient conventional resources of encrgy,
{2) Growing population and industrialization need a lot of energy.
(3) Indiahasthe non-conventional energy resources in abundance.
(A) (1) and (2)are implicit

(B) (1)und(3)are implicit

(C) (2yand (3) are implicit

(D) AU, (2) and (3) are implicit

dr sqar wwT w1 s w &) B aeE o

WA wieE e oW e wirome ot sew wEt W 2 A W R wom & wdfE oy oW ovE oy
T W s gl e A ook W W e R0

(1) wrge ¥ Faf & wafe orenfos swms oft &)

(2) wageh smedt e shafen & foo owga ad wal A smEwwm @

(3) wm ¥ wgamws ¥ o wivoms Fa aaes K

(A) (1) ste (2) Bfen B M (1) dr (3) Ffee @

(C) (2) o (3) Fiea ¥ (D) & (1), (2) 3T (3) Fafea B
fis wimis fanrs & v w2 on) fafos wpes s &3 ¢

fimirs < “arag # Gaw @ Fu-udumas w2 seerRads Fost § 2u aee  oadly Im A D Qe v
trmw@ Gam Gremn f et Y e i g

(1) o3 f's Gem @ mwe'e urdufia Aros wdt Om)

(2) @ wdt erEEt w3 Getataes =€t ags o & &= Y

(3) T8 &= w97 e fee de-udures B AEs OW)

(A) (1) =3 (2) fafuz on (B) (1) w2 (3) fnfirs o

(C) (2) »3 (3) fafas U5 D) 73 (1), (2) =2 (3) fafm o=
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Information for ). Nos. 87 - 90 :

Six children A to F are playing football. A and E are brothers. F is sister of E. C is only son of A’s uncle. B
and D) are the daughters of the brotherof C's father.

v Wer 87— 90 % oo e
WAaF AR FaA g B T AN EwE B FEWN w5 &) AF stwm w1 fawl o dmch
Bt D, C % fen & wré o &frwm Xy

yus AEe #7 - 90 = srEardt :

EEEATFPeaw s a0 ox) AnZ Egeox) FE#H Iz d) Aenlam o free feauzs C3) Bw
D, ¢ fus & g9 Tt dhatt a8

87. Howiz Crelatedta F ?

(A) Cousin (B) Brother (C) Son (D) Uncle

C,F#t #3 wafig 8 ?

(A) wf (B) wd (€) (D) s

C, F o= fa¥ mifos @ 7

(A) ahTs (B) s& (C) 5@ () wiam
8% How many male players are there 7

(A} One (B) Two (C) Three (D) Four

ael et g ovamft @ 2

(A) & (B) =@ (C) &= (D) =T

el fER wawe fupdt 75 1

(A) &= (B) € (C) s (D) o=
89, How many female players are there 7

(A) Two (B) Three (C) Four (D) One

ael et afgm Tt B 7

(A) @ (B) #m= (C) wri D) =

few fd% whiny fugsdt om ¢

(A) & (B) H=s (C) &7 (D) fe's
). HowisDrelatedto A7

(A) Uncle (B) Sister (C) Niece (D) Cousin

D, AR &% aeiiw B 7

(A) 3w (B) ##9 (C) wih (D) wfa

D, A s fad At 3 ¢

(A) nigs (B) &= (C) wrawt (D) afex
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ENGLISH LANGUAGE (). 91 to 120)
Choose the option which is closest in meaning to the given words (. 91—95):
91. Blasphemy:
(A) Piety (B) Religious (C) Impiety (1)

92, Demeanor:

(A) Unneal (B) Appearance {(C) Behavior (D)
93, Tangible:

{A) Unreal (B) Mysterious (C) Imvishle (L)
94, Festatic :

(A} Unhappy (B} Owverjoyed (C) Miserable (1)
35,  Humane :

(A} Happy (B) Confickent (C) Kind-heared (D)

Complete the following Proverbs (0). %6—100) ;
96. A bird in the hand 15 worth ;

{A) three in i bush (B) four inabish (C) fiveinabush (D)
97, Adrowning man will :

(A) Clutch ataboat (B) Cluchmasraw  (C) Losehope (D)
98, A little knowledge is:

(A} A badthing (B) Adangerousthing  (C) A fbolishthing (D)
99, Asyousow ! .

(A) Soshall you reap (B) You will sce (C)  Youwill gain 18)}
100. Do not count your chickens ;

(A) Before they are born (B) Before they are hatched

(C) Alonce (1)) Onseeing them

Give one word for the following expressions (@, 101—103) :
101, One who leams a subject as a hobby is called ;

(A) Artist (B) Professional (C) Amateur (D)
102, A Person obsessed and overconcerned about his health iscalled ;

(A) Newrotic (B) Worned (C) Hypochondriac (D)
103. The life of & person written by somebody fs called :

(A) Autobiography (B) Story (€) Biogmphy (™
DOX-2510-4 L]

Sacred

Touchable

Worried

twir in the bush

Ty toremuin afloat

Hard to gain

Yourwill jose

Stressed

Marmatve
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Choose the correct option to fill in the blank (. 104—107) :

104. He has been absent Monday,

(A) for (B) from (C) on () since
105. The new term begins the ninth of July.

(A) in (B) fom {C) on (D) with
106. This is a comfortable house to live .

(A) oo B) at (©) i (D) wit
107, T have not been to the theatre a long time.

(A) since ®) for (©) from (D) abou

Choose the correctly punctuated sentence (Q. 108—110) :

108,
(A} Oh that is a Gorgeous ! New dress. (B) Oh that is a gorgeous new Dress !
{C) Ohthat | Is a gorgeous new dress 7 (D) Oh! Thatisa gorgeous, new dress.

109,
{A) The fox was fist, sneaky ond quict in the forest,
(B) The fox was fast sneaky and guict in the forest.
(C) The fox was fast, sneaky, and quiet in the forest.
(D) The fox was fust sneaky and quiet, in the desert.

10,
{A) John asked, “Do you want to eat anything™ 7
(B) John asked that, [ wanted to eat anything.
(C) John asked if T want to eat anything.
{3} John asked if | wont to eat anything 7

Head the paragraph and choose the correct option to answer the questions (111—115) based on your reading :
In the 1960s-and 19705, jeans of all kinds became & rage in university and college campuses and with the hippy
moverment — students and young people wore painted jeans, patterned jeans, embroidered jeans....! o many
non-Western countries, jenns represented the free, consumerist culture of the West. They were very hard o get in
most other countries, American companies said that they often received letiers from people all around the world
requesting them for a pair of jeans. From the 19708, jeans started to be made available in countries around the
world. Jeans hecame cheaper and more and more people started wearing them. In the 1 980s. jeans finally became
high fashion clothing when famous designers started making many styles of jeans with their own labels on them,
Faded and tom jeans became another popular new trend with young people. The sales of jeans went upand up |
Jeans are still very popular and are an essential pant of everyone’s wardrobe — young and old. They have become
nuniversal fashion that is not likely o fade out anyiime soom !

111, The phrase “arage' is closest in meaning to:
(A) anger (B) fury (C) fashion (M) bad mood
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112, The free Consumertst culture of the west means :
(A) Consumers are free to buy alot of material goods  (B) Getting free material fems

{C)  Culture ol the west is free (D)  Consumers get everything free
113, Why did American companies neceive letiers from people 7
(A) People wanted a job in these companies (B} People badly wanted a pair of jeans
(C) People wanted to please them (D) American jeans were better
114, Jeans are still very popular because :
(A) Theyarc incxpensive (B) They are torn and faded
{C) They have become an universal fashion (D) They are available in various colors

115. Which of the following is not true in the context of the paragraph 7
(A) Onlyrich people wore jeans
{B} Faded and torn jeans were a new trend
(L) The voung generation wore painted and patterned jeans
(D) Jewns will remain in Fashoon

Fill in the correct option in the sentences below (Q. 116—120)

6 Thiswas _ essential part of their training.

{A) a (B) the (C) an (D) that
117. Why was she so worried her purse ?

(A} of (B) for (C) about (D) on
I18, The beggar wasmistaken _ apick-pocket.

(A) for B) as (C) agninst (D) about
19, Isympathize  vouin your distress,

(A) for (B) with {Cy io (D) af
120, Thad already warmed vou hirm,

(A} of (B)  aguinst (C) for (D) o
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HINDI LANGUAGE
=t (Q. Nos. 121 to 150)

lll.ﬁ'ﬂ!ﬁiﬁmﬂﬁwﬂmmt?

(A) F B) & (C) 5
122, /90 F B 0T WA B A e R e

(A) wEATH (3 fiar (C) T
123, wfdarews w8

(A) TEmmem (B) AT (C) o
124, Ba 5 B = wem

(A) 2 B) 3 () 4
125, ®u g Wt ar fodmer & owen 8 .

(A) e Fednae (B) Frima Rgmm (C) Faem Fawam
126, dE ® BUE gurT 99 e wsaw f 7

(A) wHA™ (B3) P () T R
127, 50 W wAT W HEE TR B I9F 9 W T an wes e B

(A) @Fa-u S M) = S () Fom
128, 7 & s gT TR F W R B

(A) 4 B) 6 (C) &
129, Fuieam & w1 #-m sy 8 7

(A) = 5 (B) i af (C) =ta wfE
130, iy # w@ft & AA-m e R 7

(A) =ras wf @) @l = (C) = g
131, queire o s #

(A) Tegen ®) e (C) wgif
132, %o o woe & 7

(A) + aeqed (B) T HeIEN (C) &¥% orqe
133, urft =1 unimaed &

(A) 59 (B) =W (C) 95
134, s & wlard o R

(A) HeEF (B) smaam (C) awmraer
135, % % worndf @

(A) #ft (B) ard’ (C) =%
136. Accord 1 31d & -

(A) foam (B) g (C) wwwihen
137. Bilateral 1 3 ¥ -

(A) wEer B) i (C) wids

D25 1A

D)
o)
D)
(£
(D)
(D)
®)
D)
(D)
(D)
D)
(D)
(D)
D)
D)
)

(M

e

o & Wi Al

freraif dm
10
7§ T Tl
et wifn

WEGUTHTY

HEEET ifeqsn



138, Corporation %1 o4 B . ;
(A) ®WET (B) whafh (C) wfafs D) Frm

139. Legal Force %7 anf #

(A) Tl dm (B) FfEE (C) fafts o (D) ffr ==
140, 50 F14 W oo 8 e

(A) ) 5 (C) wl D) W%
141, Wl o} ofg wm o, L A W)

(A) wrh (B) wEn (€) witey @) 3=
142. 3% Ak . Few

(A) s (B) W (C) Aemia (D) hm
143, == A gl o w0 e sEaar B

(A). s B) wH (C) wETam (D) w=dias
144, wrge ¥ war it 9@ @R W owd g

(A) SR & m gE R (B) € s o Wiy a8

(C) s & #wft we B B D) e w8 a8 @9
145. Frey & & op v B

(A) s ®) Jmit () Fmeh (D) sitgeh

Freiaiem ol & 3w 68 B & g o S

HETT, #ﬂﬁﬂ.hﬂﬂﬂ.ﬁhﬂmﬂmwﬁﬂnﬂﬂﬁhiﬂﬂﬁmﬁmﬁﬂmm
A 7wt owd A 7w F B W e e e B, oupueh ot el ) ww @ R B B &
ﬂmmﬂ,mﬁmmgﬂtmﬁmw-mmﬁﬂ.mmﬁ
— 1 5 v W i 3e wilh | it B op oo g @ B w0t #) ok o T A alehe
mmmmmm-m&mﬂwmﬂmﬁmﬂHmmhm‘Rﬁi
i FuaT W T B @ IR o gred A & e e @ wen b e

146, s sg==m o we o @ 7

(A) wgplt W (B) v = (C) st & (D) Pt =
147, Witdea ™ &l Son W g B 7

(A) H=T w3 (B) Ma-gifg &

() =l wedl & (0) s & f wnf wo
148, Wi ¥ie w1 wam w7

(A) =fts # wrd wo (B) 9t # wd so

(C) am sart & fyg wd s (D) wwter % fve wnd s
149, T & fs o5 & fav ow v wow

(A) ITRELEEE (B) smETEE (C) Frome (D) o
150, s’ o w1 ad R

(A) Awmeea (B ¥ (C) w () 37
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OR
PUNJABI LANGUAGE
rrdt (Q. Now. 151 to 180)
ISy @t IA TS e feadt Fat fgraem b

(A) A B) ==t (C) fafenr (D) &=
152, ‘Ao faodt fam e te B ¢

(A) 7t dom (B) fes'swaa (C) uergwiug (D) ¥veea
153, uzmte dhat flatt fefet Fetut o8 7

(A) WF (B) w9 (C) fammet (D) @
|54, fafanr e figar gu fafenr & we fai 5 gue set vafonr w2, @9 § of afde 7% 9

(A) faeds (B) fafawr feime (C) =raat () FaETHE
155, maet 7t 73t & orun 9 fan @ § o afifE om ¢

(A) e (B) uzmt feRm= (C) wiitga (D) aa=
156, Furgs USET s o faodt gEwd mdt ) 1

(A) aow, oo, femme, fafann (B) uzwte, fafanr, Taw

(C) &g, sou, fafawr Dy e, fafenr, aon, feawe
157, ‘o e daa S wa, Wdhet, efidtet i3 3t v far it o s fae mee felme B 9

(A) wrg (B) == (C) o Dy ==
158. "W fer g ot o fasht o B9t we Adfoe B 0

(A} wifsEios S93Ws &8 (B) femfas usm Toprs a8

(C) feufag o zaaws 3w (D) FUER TAEHA T8
159. faryr muw e feSdt 3 7

(A) B (B) awr-famrg (C) wie-um (D) fer-pEe
160, =2 folm moxr fge 3, o5 &9 faoe g 2 7

(A) y=s feany B) yeawwa

() Tewfha (D) feost &9 & & st
161. ‘drt &t meet 29 gz 59T feerer 31" v ey faoe mEe owETm 3 7

(A) g= (B) e (C) fimmer (D) dt
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lﬁZ.ﬂEﬁEﬂmﬁﬁ."ﬁ‘E'ﬂi“ﬁ'ﬁ‘i.
(A) @r & faor fa, a'w awn de Faar
(C) Bn & fao, “fa &% aew o= Fdar”

(B) 8r & far, fa o' s g2 @oan
(D) Gw & fawr fa &5 aww g o

163, ‘% 93 @9 w ofie &t B 9

(A) & &= (B) wirE (€) & (b) fesst
164. “fif's &% & F9m' Hoed v & wee o 1

(A) 7% s g (B) femsmam gaw (C) g @ gow (D) ¥piyg 797
165, oeT® yar @81 “¥Hl TG i’ i

(A) 36 em3 (B) wast @ e (C) weF faTenr (D) YoWWT gB3

166. 75 mnot fr's mI-fam & Tud 37 & wfedt 5% 9t favr yowe wefawr A B ¢
(A) fesst em daadt B) R fesur & orer
(C) gdintt fal E & wrabort D) 2 fe'sw oo wuw

167. ufamarer Urrdt faodt fedt fe'e fadt 7t & 4

(A) wrpd B) Tt (C) ewwmadt D) @
168, ‘ynrdt Ut g @ e

(A) Mt (B) Bu-sm (C) fenraes (D) mee-iE
169, ‘&0 @ity 58 g & & Qo 7% Ta &6 fe's gav mee @ 9 &9

(A) @ B) st (C) awa D) =&g

170. ' 7 fumdndt § 2 & #%toit 3t noft fw age /99 va faudt i o 3 1
(A) fumas (B) Fgaa (C) otea D) soees
171, ‘= wee G affe os fme
(A} HBE AF I7 0F ™= »ag 0d 0F
(C) wee W & §ift 3= »id wew &t G0 O
172, “aitr fuer’ mue o vad foan st &t miet 3 1
(A) 7w uFt mE mEt  (B) IR @ dermdt (C) yeR e
173, gorrdt Guamar faod fewrd e &0t et 2 7
(A) Juz, gteaT, Maeud

(B) WE® #F J9 9% ud wigw B9 0=
(M & mEe &3 §dt 0= & nEw G4 0=

(D) "y 2 &a Fre e

(B) #rde, Tesiddl, dyye

(C) Toemye, ussaes, 2w 509 (D) ==t wfoe, glowrays, Fdoe
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174. "Hugs’ mew Rg faoa warge wofour famr 3 4

(A) A By w c) A D)
175, "Sarag” gee faod mav d= 5= wfeur B 0

(A) Bm+Tw (B) ®ar+dd (C) B4nrara (D) Zawrsars
1765 s 2 fdtfaoaterd

(A) TE gatnit (B) www (C) wina gatet (D) vaws fentas
177, fvs fows Faaitmt T faudt $saft 83 var v Adfos =4F Y ¢

(A) e (B) e (C) &&t &t = (D) whg-aEe

0§ & mruve '3 awe fel (yms 178-180) :

s fimis @ gaE 1 FEEE § wigt oAt O & 2t fiowe & e o Tmr S 8 S mE
e it g9 3 uw few @ wpy @ vl e ooz o8 e, fee 7 afly o6 el F AEew & s w5 sl
AR dFamar @ g Iogadmediaamdt ) e feu dur 3 o fag ofis, See o
= 3t 3 fimimg TR Bt & yfta wdt der, ol ds (St delt 9o 3 & 48 § feadt st B

178. 0F & duret fired & § mare 3 1

(A) #=es B) =mEF-fiows (C) fimra D) & mEws & e
179, 0% &% ‘o3’ mue faod wiew e wofow fow B ¢

(A) wits B) uFEau's (€) ==t wF (D) feduar o
180. 13 fe's =23 gae 'Ardt @t &t o5 1

(A) AN mEe B) fewiarava mEe {C) moaw mEe (D) wHa=a
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